Power functions and proportionality (sec. 11.1)
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A power function is of the form @x)= \r_xj?, whee kand
p are tonstants T

Nete I expmemidd fundions fhe varigble x ts inthe power;
whereas [n a. power fundion it‘s in the base.
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let's now look of negative powes:
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Power funthions are funckions of the form y= bCP Where k& p ar o nstants.
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All power furctions with [p70| have the same long~vun behavior.
AS x— 60 the volue xP—ee.
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In he fong-run, as x >,

x> grows faster fhad /2
c-e. it's dominant.

~ |§ 0<p<q the funclion 3=x¢" dominades U=XP

Findinﬂ the, formula for o power finchion

Toug do this bJ using two points en its groph.
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Determine (€ the {:o\\owin\tj are power funchions and  defermine also kand p
i€ it's a power funchion.
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